HW 2.5 (a) Key

1. Jerry will make deposits of 600 at the end of each quarter for 8 years. At the end of 14
years, Jerry will use the fund to make annual payments of Y at the beginning of each
year for 6 years, after which the fund is exhausted. The annual effective rate of interest
is 5.5%. Determine Y. [4.a-c #02]
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2. A perpetuity paying 1 at the beginning of each 6-month period has a present value of
100. A second perpetuity pays X at the beginning of every 3 years. Assuming the

same annual effective interest rate, the two present values are equal. Determine X,
[4.a-c #03]
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3. A 28-year annuity pays 220 every other year beginning at the end of the second year,
with additional payments of 360 at the end of years 5, 13, and 21. The effective annual
interest rate is 10%. Calculate the present value of the annuity. [4.a-c #19]
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4. You are given:
(i) the present value of a 4n-year annuity-immediate of 1 at the end of every year is

12.594;
(i) the present value of a 4n-year annuity-immediate of 1 at the end of every second

year is 6.070;
(iii) the present value of a 4n-year annuity-immediate of 1 at the end of every third

year is X;
Calculate X. [4.a-c #20]
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5. You are given a perpetuity, with annual payments as follows:
(1) Payments of 4 at the end of the first year and every three years thereafter.
(i1) Payments of 5 at the end of the second year and every three years thereafter.
(iif) Payments of 2 at the end of the third year and every three years thereafter.
The interest is 7% convertible semiannually. Calculate the present value of this

perpetuity. [4.a-c #22]
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